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fn H Hfrkg = TiEkse %7 B ()
1 KR 10 2,700 324 1,188 1,620
2 h7 1 200 173
3 A= 10 3,100 1,296 2,484 2,808
4 ZF) 2 3,024
5 bl av 4
5 HX 15 2,000 540 1,080 1,512
6 A% 0.4
7 XY 10 10,500 540 864 1,080
8 FH—L v 0.2 700 54 130 173
9 XF 5 1,800 540 2,376 2,916
100 &XH 0.2 173 173 238
11 BLY— 10 100 3,240 3,888
12 U777 6 2,592 3,024
13 7nmyal 8 600 3,240 3,888
14 LHA 10 3,000 540 1,620 2,160
15 Zwib 5 2,100 540 2,484 2,916
16 NEHb 10 2,376 2,700 3,024
17 TR 5 3,100 810 2,808 3,456
18 e 5 200 1,296 2,160
19 bk~h 4 3,300 540 1,728
20 I=pk=F 0.2 800 65 140
21 B—<y 0.15 4,300 54 81 119
22 WAIT A 2 4,860
23 =R 1 3,780
24 Z72FED 5 4,320 5,400 6,480
25 MALX 5 300 2,160 3,240
26 [T Lx 10 1,000 1,404 1,404 1,620
27 HF 5
28 R 10 4,860
29 EXF 20 10,500 3,024 3,024 3,564
30 fhidIn 1 100
31 LT 0.1 32 108 140
32 7z 0.1 300 38 54 65
33 LoL 0.2 800
34 DS 0.1 300 38 54 65
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1 WAZ 10 2,000

2

3 FM 10

4 .5E59(77) 2 3,888 4,644 6,264
55 (EIE, 1 2,931 3,564
6 b 5 100 4,320 6,480 8,100
7 2L 10

8 HRIR 0.27

9 WHZ 0.3

10 il 0.3

11 Aaw 5 400 2,700 3,780 4,860

1274y 9

13 7—)VAA gy 8

14 G 13 3,000 3,240 3,780 4,752
15 L& 18 6,480 8,100 10,800
16 ALy 18 1,200 6,264 7,776 9,180
177°V—=7"70— 18 600

18 NATy7 N 18 2,592 3,240 3,780
19 ¥7A7 V=Y 4 400

200 U 15 19,700 2,700 3,780 4,860
21 G 1

22 BN 10 200

23

24

25/)L. LV 7F = 4

26 AF= 0.3




